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equ. spaced

random distr.

exp. decaying

λ1=.5 and equ. spac.

1. Equally spaced

a = 4.012 (3.701, 4.324)
b = -2.102 (-2.178, -2.026)

2. Random

a = 4.061 (3.503, 4.618)
b = -2.106 (-2.241, -1.972)

3. Exponentially decaying eigenvalues

a = 3.997 (2.513, 5.481)
b = -1.384 (-1.721, -1.046)

4. λ1 = 1/2 and the rest equally spaced

a = 3.091 (2.125, 4.056)
b = -1.435 (-1.722, -1.149)
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random distr.

exp. decaying

λ1=.5 and equ. spac.

1. Equally spaced

a = 4.007 (3.656, 4.359)
b = -2.091 (-2.177, -2.006)

2. Random

a = 4.063 (3.489, 4.637)
b = -2.178 (-2.316, -2.039)

3. Exponentially decaying eigenvalues

a = 3.961 (2.533, 5.389)
b = -1.375 (-1.702, -1.047)

4. λ1 = 1/2 and the rest equally spaced

a = 2.909 (1.778, 4.039)
b = -1.363 (-1.715, -1.011)


